H & 0l & AHS B Ml A

2 CADNE= =N

F: TADNY

el e REAEEY (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
ANuS= 120,426,505 155,899,060 235,472,555
= 13,328,016
s 6,335,000
| 540,600
= 10,093,854
Al 90, 129,035
S A 847,080 5,736,299 24,889,219
SADHE 750,880 5,548,719 24,797,839
SelHCAHEEZH 10,400 18,600 28,200
SAEE 22 10,400 18,600 28,200
202 04t 3,200 9,600 26,400
01 2LHO LI 3,200 9,600 26,400
OEANSEE HRF
20,0003 x4 +402] 3,200
203 =& 7,200 9,000 21,800
03 Al =& S =AY 7,200 9,000 21,800
OSADEANMFEI(ZE)
4,800,000 14 4,800
OEAAIMZ=X 2,400,000 14 2,400
OlcH XIS E QI Al H & 652,480 1,292,719 A640,239
MEESEHH A TAIZCIHE =8 200,000 350,000 A150,000
401 AIEHIZL 28I 200,000 350,000 A 150,000
01 Al&HI 200,000 350,000 A150,000
OMEZSHollA TAI22IHE =&
200,000,000 x 14! 200,000
sF2c/H=E = 250,000 0 250,000
401 AIEHIZ 2018 250,000 0 250,000
01 AlEHI 250,000 0 250,000
odzzelHe =g =24
250,000,000 * 14! 250,000
SAIHE BEMA(PIS) SXI2el 25,000 25,000 0
401 AlEHIZ 20| 25,000 25,000
01 Al&HI 25,000 25,000
O AIAE HEMHA(PIS) SXIZ==HI
25,000,000 * 14 25,000
SA2e[HE =8 57,400 86,800 229,400
201 L2 | 22,400 86,800 264,400
01 Ar2eltl 22,400 86,800 A64,400
2ot=ZH] 2,400
o AIHEIRIRES 2IME M
1,000 *123|* 1005 1,200
SAMNNMEALHAEGES 2UIME HE
1,000& *123]* 1005 1,200
Oo=2g=¢ 20,000




A= CAUES SA  EAID
I TADHE
R OIHRIE M I ALA EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
ST ANERIEE X MHETLHLEAH
3 =& 100,000& «25 2 +83] 20,000
308 AXISHSO0IH 35,000 35,000
18 SIS0t AS A 35,000 35,000
O AlZe A= 22z
5,000,000& 73] 35,000
SAH = 2 12,080 21,700 29,620
201 2Bt ] 6,000 10,500 24,500
01 AFR2telHl 6,000 10,500 24,500
Oggt=3H| 6,000
ocEXNOISHEHA E542F 7
4,000,000& +14] 4,000
oTAIAEEE EH¥E ZelH 428
2,000,000& *14! 2,000
202 04l 6,080 11,200 N5,120
01 2LHA Y] 6,080 11,200 N5,120
OZAlZe| A& 2R
20,0002 x4 2 »383] 3,040
OXFE2IAE HRFN
20,0002 x4 »383] 3,040
SAIGIOL 2e| 8,000 12,480 A4,480
202 Ot 8,000 12,480 A4,480
01 2LHOY] 8,000 12,480 A4,480
Ofgdieioiit2ed G2
20,0002 x4 *1002] 8,000
N£Eokse XNRHAAE =8 89 100,000 300,000 200,000
401 AIEHIZL 20| 100,000 300,000 200,000
01 Al&ZHI 100,000 300,000 200,000
O A2 HE (Rt HE) =8 89
100,000,000 14| 100,000
N R I 88,000 237,400 A 149,400
SAB2 A 88,000 237,400 A 149,400
201 ZB=EhI 68,000 87,400 19,400
01 AlR2telHl 68,000 62,000 6,000
Ogit==H| 1,000
oL AZZ AN 2= HH
1,000,000 14! 1,000
O=2g+¢ 24,000
oL ANAESSEE % F2RAAE =&
100,000& * 12 »203] 24,000
Ogxt= 43,000
ST EERA Atz
15,000,000 *14] 15,000
cdAs EERA 2=
28,000,000+ 14| 28,000




SN ¢ SAID

o EA%SE@ (CH9: &S1)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

308 REXISHMSOIH 20,000 20,000
13 I 2 S0IeHE & A S AL 20,000 20,000
OX72H= 220
5,000,000 *43] 20,000
33CIAe! J|=l2te| 24,000 64,680 240,680
=3CIX! DIt &gl 24,000 64,680 240,680
330Xl 282 24,000 62,280 238,280
201 2Er2Z 24,000 47,880 A23,880
01 ArR2eltl 24,000 47,880 223,880
OSSCIAe EM2H AtR2el]
3,000,000 14 3,000
OZ3UXINERARAS = 21,000
oBBORQINEDIAS 2
100,000& 30«7 & 21,000
HHYS2HEHI(ZAILD) 72,200 122,900 250,700
elAR2AY| 24,000 62,400 238,400
SSCIAe 2Hae|(eld]) 24,000 62,400 A\38,400
101 el H| 24,000 62,400 238,400
02 JIEtA E 24,000 62,400 238,400
OZ2CIXIS! DIZFEEINCIXR!) H4
2,000,0002 1« 12& 24,000
JlZ2&H| 48,200 60,500 A 12,300
J12&H| 48,200 60,500 A 12,300
201 2E2 ] 28,200 33,700 25,500
01 ArR222lt| 28,200 33,700 25,500
OAtR2e|H] 17,800
cHIANRES 7L 500,000& 123 6,000
SARID| ABREHY
6,000,000& * 14! 6,000
oFD| & 75,0002 123l 900
=J|Et Yet=2H| 4,000,000 x 14! 4,000
o= M-I 300,000 *32] 900
O=gt| 10,400
ollEAeas A
8,000&*13Z 1002 10,400
202 Odt| 10,800 16,200 25,400
01 =LHOILI 10,800 16,200 25,400
OJl=g R0l
60,000 18 *102] 10,800
203 R =& 9,200 10,600 21,400
01 J| 22 R=4H| 5,600 7,000 21,400
OJ|22HHRFA 5,600,000 * 14! 5,600
M FA2ILRFAL 3,600 3,600 0
ORA2IHRFA 300,000& =123 3,600




H = 0 & AFS Y Al A
AR CANE=R S NEM
HY: AN DENY X2
=9l WS EER-E)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = Ol ko s2
mEs=nis 38,109,125 39,342,980 N 1,233,855
= 852,950
= 1,014,000
J| 540,600
= 1,091,833
Al 34,609,742
SAX WS =X 394,190 425,000 A30,810
nsa2tel 3%,190 425,000 A30,810
AMUHA FHHS L S SSHAEH R AL 19,000 19,000 0
207 AP IHEH] 19,000 19,000 0
01 A7 E24H| 19,000 19,000 0
Obl=2Ls A Y Y Jid 224
19,000,000& =14 19,000
HAXMBAAERS 2 2A 356,190 368,000 A11,810
201 LBt2AH| 315,390 317,000 A1,610
01 AFR2telH| 216,340 40,000 176,340
OHAABAIAH ARE 12
25,000,000 & * 1A 25,000
OHAEBAIAE KX L 22|
177,540,000 & = 14! 177,540
OHAZEAIAE(BIS) EHOIX & 2HIL
S 2l 13,800,000& * 14! 13,800
02 B32ZH| 99,050 277,000 A177,950
O™ S & 99,050,000 & *1A! 99,050
401 AIEHILE0HY] 40,800 51,000 A 10,200
01 Al&H| 40,800 51,000 A 10,200
OHAAEOHNED| 00 &X
10,200,000 *4H A~ 40,800
WEH HE-E 19,000 38,000 A 19,000
207 A IHEH] 19,000 38,000 A 19,000
01 32| 19,000 38,000 19,000
OZEA XY UHEus AXIEAIHAHE
19,000,000& * 14! 19,000
CI2tEH NEsE 2= 32,238,417 30,440,251 1,798, 166
= 852,950
rag 1,014,000
J| 540,600
& 1,091,833
Al 28,739,034
H=nEAIE &43} 32,238,417 30,440,251 1,798,166
= 852,950
rag 1,014,000
J| 540,600
& 1,091,833




A2 TAUS=E 2A  nsn
M oORISN NESHH I=
Hel: HSusSAe 2dst (SH9 H2)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HusZ
Al 28,739,034
ANLENSIH FIEESXE 11,000,000 12,000,000 1,000,000
307 212+01™ 11,000,000 12,000,000 21,000,000
09 2AHEXS 11,000,000 12,000,000 1,000,000
OAMAETSIHHA BIALSIE)RIIEES
A& 11,000,000, 0002 *100% 11,000,000
AMUHA Hls=2ded K& 4,541,155 4,541,155 0
= 333,929
Al 4,207,226
307 212t01 & 4,541,155 4,541,155 0
== 333,929
Al 4,207,226
09 2FHHEXS 4,541,155 4,541,155 0
OAILIHA Hi=2deM X2
4,541,155,0002 *100% 4,541,155
S 333,929
Al 4,207,226
AMLHHA 28AY HE X 4,167,900 3,038,599 1,129,301
201 L2 6,000 30,000 A24,000
01 AlR2telH] 6,000 30,000 224,000
ORdsid & 222 M
6,000,000 14! 6,000
307 el2+old 4,161,900 3,008,599 1,153,301
2rUAHEXS 4,161,900 3,008,599 1,153,301
OAUHA LD MZE SXI24
570,000,000 *12% 68,400
Onsote o Y SIS &8
2,000,000, 0002 *100% 2,000,000
Oz nE=X K =424
2,000,000, 000& x100% 2,000,000
02024 23 SHEAESHEE HA RF0/8
A& 93,500,000 *100% 93,500
MattA =X 715,000 920,000 A205,000
= 357,500
= 107,250
Al 250,250
402 SI2ERHE01 ™ 715,000 920,000 A 205,000
= 357,500
== 107,250
Al 250,250
02 QI TH2AIE 2R (OIMTHE) 715,000 920,000 A205,000
OMAHA =X 715,000,000 *100% 715,000
= 357,500
= 107,250




A TALNER S IRmi=n
Mo QIIEA WSEA S
Hel: HSusSAe 2dst (SH9 H2)
Ax - BA - 3 - SAAEA) - HRAY - BES Ofl &4 OE:I(%% Husz
| Al 250,250
SSEHA X 3,499,300 3,200,000 299,300
[ 420,000
= 126,000
Al 2,953,300
307 gl2to| & 3,499,300 3,200,000 299,300
[ 420,000
= 126,000
Al 2,953,300
QB 2=gHEXS 3,499,300 3,200,000 299,300
O0taltHA 23Hl X1~
840,000, 0002 *100% 840,000
[ 420,000
= 126,000
Al 294,000
OCHAHA 28| X2 (AlBIFEDH)
2,659,300,000& *100% 2,659,300
Sguss¢ 28 XA0I13) 2,432,600 1,890,000 542,600
Il 540,600
Al 1,892,000
307 elztol & 2,432,600 1,848,400 584,200
J| 540,600
Al 1,892,000
05 2IMRIE =3 2,432,600 1,848,400 584,200
OSgus+c g
2,432,600,000& *14] 2,432,600
Il 540,600
Al 1,892,000
EAI2SAIY X 1,130,631 1,067,022 63,609
201 et 3| 2,500 2,500 0
01 At2t2l] 2,500 2,500 0
OAIZE 31045
100,000& x5 & %52 2,500
207 ARl 19,000 19,000
01 g EAH| 19,000 19,000
ORMISZE HEAl HAIESY &8 89
19,000,000 * 14 19,000
307 @I2t01 & 441,730 457,689 15,959
02 QB HANEEX 441,730 457,689 15,959
OHAl MHIAJE (SAL 2 2HHb]) X2
14,3002 *1, 175CH* 122 *100% 201,630
OHIAl SSEHH AIEXIZ
343,000,000 *70% 240,100
308 AHXIEMSOIE 647,401 546,833 100,568




A2 TAUS=E 2A  nsn
M oORISN NESHH I=
Hel: HSusSAe 2dst (SH9 H2)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HusZ
13 S 2 SONHEE & E A A I 647,401 546,833 100,568
QA2 A D 2| AIAEN(TIMS) 22| XI&
12,401,000 14! 12,401
OEAlOI8 ZEEHYE g2&218 X
635,000,000 14 635,000
401 AIEHIZL S OHHI 20,000 60,000 40,000
01 A&l 20,000 60,000 40,000
OHAISZE &X & 2+
20,000,000 = 14! 20,000
BARE ItES=2 KR 201,264 213,024 A11,760
= 60,379
Al 140,885
307 el2+old 201,264 213,024 A11,760
= 60,379
Al 140,885
02 QIZtEHAEE X 201,264 213,024 A11,760
OHAIRE M2 X
14,000& %1, 198CH* 122 *100% 201,264
(= £0,379
Al 140,885
XSO SZONEAI (LBESINH) 130,373 159,267 A28,89%4
== 39,112
Al 91,261
402 QIEXH=20IH 130,373 159,267 A28,8%
= 39,112
Al 91,261
02 QI AH2AIS 2R (0IETHE) 130,373 159,267 N28,8%4
OOCIAXISAIEDIE 2D IR
162,966, 0003 »80% 130,373
(= 39,112
Al 91,261
SSEEA X2 185,134 192,940 AT,806
= 29,000
= 46,840
Al 109,294
301 LENZF 185,134 192,940 AT,806
z 29,000
S 46,840
Al 109,294
01 Al EE A GIS (2 DEXTHE) 185,134 192,940 AT,806
OSZEEAl X 185,134,000 *14] 185,134
z 29,000
= 46,840
Al 109,294




TAINS= 2N ¢ WS
OIRIEA DEBA 7
HsnsSAY 243t (SH9 H2)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
N2 2 G K&t 25 A 120,000 120,000 0
= 10,890
T 7,623
Al 101,487
301 EtEXZ 120,000 120,000 0
= 10,890
T 7,623
Al 101,487
14 J|IEtE A4S 120,000 120,000 0
ONE2HX X HG K&IEH oIHIEIE
= 100,000& *363H 36,300
= 10,890
= 7,623
Al 17,787
ONE2EX X HG KH&IBH QIHIEIE
INEINLIESDD) 83,700,000 14! 83,700
HASLESAIA 22024 HE K& AL 225,000 315,000 90,000
& 67,500
Al 157,500
307 CI2t0IA 225,000 315,000 290,000
& 67,500
Al 157,500
Q0 2= H & 225,000 315,000 90,000
OHAZ2LSAAN 220HAH HEXE A
225,000,000 *100% 225,000
= 67,500
Al 157,500
SgENSE & 144,000 528,000 384,000
= 69,000
T 20,700
Al 54,300
405 KHoHE =H| 144,000 528,000 384,000
= 69,000
T 20,700
Al 54,300
01 AL =2 EF S| 144,000 528,000 384,000
OSgnS4E M7
138,000,000 * 14 138,000
= 69,000
T 20,700
Al 48,300
OSgusat MR (MBI
6,000,000& 14! 6,000
BEMH & 2a3AKEH =4 10,000 40,000 30,000




A2 TAUS=E 2A  nsn
M oORISN NESHH I=
Hel: HSusSAe 2dst (SH9 H2)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HusZ
401 AIEHIZL 2 OHY| 10,000 40,000 /30,000
01 Al&HI 10,000 40,000 30,000
OOtabiA SSHE | 2=
10,000,000& x 14! 10,000
2E AEIHA 2 (E)(ZZHEZAI) 430,000 10,000 420,000
[ 215,000
= 107,500
Al 107,500
401 AlIEHIZL R OHYI 40,000 10,000 30,000
= 20,000
(= 10,000
Al 10,000
01 Al&HI 40,000 10,000 30,000
OAIEIBIA S2E A&
40,000,000 *14] 40,000
= 20,000
(= 10,000
Al 10,000
402 SIZERHE0| M 390,000 0 390,000
= 195,000
(= 97,500
Al 97,500
02 QI X2 AL EE(OIHTHE) 390,000 0 390,000
OAIEIHA P& 130,000, 000 *3CH*100% 390,000
= 195,000
S 97,500
Al 97,500
EHAIZX EAXIA(HE2ZXIL) 1,750,000 312,000 1,438,000
= 136,500
Al 1,613,500
301 Et2EZ 1,750,000 312,000 1,438,000
= 136,500
Al 1,613,500
14 J|EtE &S 1,750,000 312,000 1,438,000
OB AIZXHE &K (HE 2R
13,000,000 *35CH 455,000
= 136,500
Al 318,500
OHAZIE A (HEHZ R, AIHIFI
37,000, 0002 *35LH 1,295,000
2E AEIHA 2H(2ZAHEZA) 700,000 590,000 110,000
= 350,000
(= 175,000
Al 175,000




A2 TAUS=E 2A  nsn
M oORISN NESHH I=
Hel: HSusSAe 2dst (SH9 H2)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HusZ
201 LBt 7,000 14,000 A7,000
= 3,500
S 1,750
Al 1,750
01 AtR2telbl 7,000 14,000 A7,000
OclEd & g=2288 Mz
7,000,000 * 14! 7,000
= 3,500
S 1,750
Al 1,750
307 212t01 & 693,000 576,000 117,000
s 346,500
S 173,250
Al 173,250
09 2+HAHEES 693,000 576,000 117,000
OZE MEIHA 2H(2BAHE A
693,000,000 *100% 693,000
s 346,500
S 173,250
Al 173,250
PSUSIHE K& A 24,000 11,800 12,200
= 12,000
Al 12,000
308 XXM SO0IA 24,000 11,800 12,200
= 12,000
Al 12,000
13 SISOt A EAS ALS | 24,000 11,800 12,200
OLENSIHE OrdelXl X
24,000,000 *100% 24,000
= 12,000
Al 12,000
HIZMO wNEX 0ls X 546,000 435,000 111,000
301 Et2 &= 504,000 387,000 117,000
02 MBI 2EHSFHS(HAANS, XLHE) 504,000 0 504,000
O2SALL &3 X
504,000,000 *14] 504,000
307 el2+old 42,000 48,000 26,000
11 AR S XA E X 42,000 48,000 26,000
OHIZHOo WSAXt 2 X2
42,000,000 *100% 42,000
SEgisEsH 28 MY (2ES) 248,060 97,600 150,460
= 248,060
307 el2+old 248,060 97,600 150,460
= 248,060




A= TAWSER SN ns
M tEY nsEd 7=
el HsSnsSAE 283 (SH9 H2)
A= - BA - 3H - SA(SAH) - NIRAY - BES Off &4 %E% BlunsZ
05 QIZtRIE 2 248,060 97,600 150,460
OSguS=+t 292
248,060,000 x 14 248,060
= 248,060
HsusHl &2 XNFA 38,000 0 38,000
= 19,000
Al 19,000
308 AHXIEMSOIH 38,000 0 38,000
= 19,000
Al 19,000
13 S 2 SOIUEHE 4 X 2AS A I 38,000 0 38,000
OtiEsnsy &3 X
38,000,000 *100% 38,000
= 19,000
Al 19,000
Y 2IZH (S 23,840 29,380 25,540
=3 23,840 29,380 5,540
Jl=3hl 23,840 29,380 5,540
201 Let2aY| 10,100 10,100 0
01 AtR2t2|HI 10,100 10,100 0
Ogt=24] 10,100
ocHTANRES 7Y 300,000 * 122 3,600
SARIPD| 228 7Y
500,000+ 122 6,000
= J|Et=ZH| 500,000 * 14! 500
202 04| 8,400 14,000 A5,600
01 2L AL 8,400 14,000 25,600
OJI=gR =&dotl
100,000 x28 & 32l 8,400
203 FR=4| 5,340 5,280 60
04 FA2SLRFA] 5,340 5,280 60
OFNSSILRF 45,0002 * 122 5,340
Hees(ns) 5,452,678 8,448,349 A2,995,671
LHRAHHXIZE 5,452,678 8,448,349 A2,995,671
LHRHHXIE 5,452,678 8,448,349 A2,995,671
701 JIEHRIHNSEES 5,452,678 8,448,349 A2,995,671
01 JIEII AN ES 5,452,678 8,448,349 2,995,671
OLSASESLESH HES (MM ZAIXS
Y=o 0% ZF)
5,452,678,000& x14] 5,452,678




H & 0l & AHS B Ml A

A= TAWSER 2 0 SAITHA D}
B F010] FEots XSIHSE TAITHAY
& SaEydst (SH9 H2)
A= - BA - 3H - SA(SAH) - NIRAY - BES Off &4 %E% BlunsZ
AL TH24 10 7,049,977 8,332,770 N1,282,793
= 1,546,000
== 172,700
Al 5,331,277
=010l F=Eote XHIHss TAITHA 6,716,688 7,947,647 21,230,959
= 1,546,000
[ 172,700
Al 4,997,988
CHEHst 5,342,808 6,204,879 A862,071
= 915,000
== 91,500
Al 4,336,308
SAITH A 1,708,900 86,880 1,622,020
201 2= 49,500 46,800 2,700
01 Al 22l 4,500 0 4,500
OZANY 2123 29
100,000 x15E 32l 4,500
02 S3=4gl 45,000 46,800 1,800
O332= % MAl 45,000
odMIIRS 3,500,000 «12& 42,000
o otk 23 250,000 * 122 3,000
202 04l 7,800 34,080 26,280
01 =2LH0Y| 7,800 10,080 12,280
OZAIH A=A
20,0003 x6H »653] 7,800
203 HRFTH| 1,600 2,000 A400
03 AIFAH 2= 1,600 2,000 A400
OZAY FRFA 1,600,000 *14l 1,600
401 AIEHIZL SR THY] 150,000 150,000
01 AlZHI 150,000 150,000
OZAITHY S2AY = (AF 24|, =
2 8) 150,000,000 * 14! 150,000
405 KHAHH SH 1,500,000 1,500,000
01 MM ESFSHI 1,500,000 1,500,000
OSAHY S2AIY F=T(EXI 0HY)
1,500,000,000& » 14 1,500,000
LEANZAIMEXZEEH =2 210,108 215,926 Nb,818
101 e124d| 72,726 74,712 A1,986
04 JIZtN2 2N S 2 72,726 74,712 1,986
ougE (a2) 71,750
oxg 55,950,000 * 14| 556,950
oY 200,000 1 «12& 2,400
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A=z CEANES 2 ¢ SAITHA
M 00| F==ot= XNSBItssh TAITHAY
& SaEydst (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
Smo AR e T == B Ofl &k ==
O AITHA AFH =&
20,0003 »3H +502 3,000
307 212t01 & 20,000 30,000 /10,000
02 QIZHAAAE 2L 20,000 30,000 A 10,000
O=FRZ2AY 20,000,0002 *100% 20,000
NEAZ L2 TISTHAHAS (21 2B AY) 54,000 200,000 146,000
401 AIEHIZL 2 0HY] 4,000 8,000 A4,000
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Oxtzdxt= 900,000& x2CH+ 12 21,600
02 2324l 7,200 7,200 0
Oxtg ==l 600,0002 x 123 7,200
202 O4d 13,440 14,280 AB40
01 =LHOH LI 13,440 14,280 AB40
OJ 2R3 0|
70,0003 16 *123] 13,440
203 PR =&IH| 3,600 3,600
M FA2LHRFAH 3,600 3,600
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H & 0l & AHS B Ml A

A= SAUSE= 2M 0 &2t
M C2IEY =2HE
=Rl TAIHEEZ 4 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
S22 30,358,036 44,112,289 A13,754,253
= 600,000
= 2,468,068
Al 27,289,968
C2NEY == 14,163,600 16,102,600 21,939,000
s 600,000
T 2,155,000
Al 11,408,600
SAHEEZ 4 4,903,000 11,073,000 26,170,000
& 300,000
Al 4,603,000
SIS ZHEZ A S AHTH2-7) 100,000 500,000 A400,000
401 AIEHIZL 2018 100,000 500,000 A400,000
01 Al&Hl 100,000 500,000 A400,000
O3lits 2T Z NS AHTH2-7)
100,000,000 * 14! 100,000
SNSRI W2 S2IHE(S2-5) 300,000 100,000 200,000
401 AlEHIZ 20| 300,000 100,000 200,000
01 Al&HI 300,000 100,000 200,000
O3giu~-&ataint S2I-(52-5)
300,000,000 14! 300,000
S~ LAEERSEY S2EE(F3-17) 400,000 300,000 100,000
401 AIEHIZL 28I 400,000 300,000 100,000
01 Al&Hl 400,000 300,000 100,000
Oz~ LAEERZE S2EE(F3-17)
400,000,000 14 400,000
SANHEEZ A2 QIR AALY 700,000 800,000 100,000
401 AIEHIZ 2018 700,000 800,000 100,000
01 AlEHI 700,000 800,000 100,000
OZANHEEZ AL QIRAGHAALS
700,000,000 14! 700,000
O E QIS EL~FIoHEH T AIHE 2 EE(LH3-1) 2,600,000 2,000,000 600,000
401 AIEHIZL 28I 2,600,000 2,000,000 600,000
01 Al&Hl 2,600,000 2,000,000 600,000
Ootsls CISEE~ZEH TAIHE 2=
ZH(TH3-1) 2,600,000,000& * 14! 2,600,000
s 820242 248 (A3-354) 100,000 200,000 100,000
401 AIEHIZ 2018 100,000 200,000 100,000
01 AlEHI 100,000 200,000 100,000
Oues 8=30%2 T2 (4A3-3A4)
100,000,000 * 14! 100,000
2AsH 2232 T2IHESAH(A3-8) 100,000 100,000
401 AIEHIZL 28I 100,000 100,000
01 Al&HI 100,000 100,000




2N E21

7 EERE)
AR 2A BB S2(BH) - MRAY - BES ofl vy A ClImE=T]
OLSH 822 T2IHHZAHA3S)
100,000,0002! %14} 100,000
TAEER AR 29A| 3,000 3,000
202 01t 3,000 3,000
01 2Ul0ib| 3,000 3,000
OZAIHEER AE
3,000,000 14! 3,000
OHH S [32-2-244]1 2 TAIHEC2(A2-1)HEZA 600,000 0 600,000
= 300,000
Al 300,000
401 AIZHILE | 600,000 0 600,000
= 300,000
Al 300,000
01 Al 600,000 0 600,000
OIS TAIHETR(A2-1)HEBA
600,000, 0002 *14! 600,000
< 300,000
Al 300,000
SONE 2 S0IEE2 JHa 8,354,000 3,954,000 4,400,000
z 600,000
= 1,855,000
Al 5,899,000
SAEEH(Z2E) HEH 100,000 300,000 200,000
401 AIZHIL S 1| 100,000 300,000 200,000
01 Al 100,000 300,000 200,000
OX2XAGSH (Z2E) HTE
100,000,0008! %14} 100,000
HA202s M (UYL~S40) E2IHA 250,000 0 250,000
401 AlEHIL 2| 250,000 250,000
01 Alb| 250,000 250,000
O LlRs M (DY Z~S40H2) E2IHA
250,000,0002! %14} 250,000
HA2035 M (UROI) 2T 300,000 0 300,000
401 AIEHILLHH| 300,000 300,000
01 Al 300,000 300,000
OB A3E M (LROHY) ST
300,000,0008! % 14! 300,000
SOIET2(PHNISH) HEHTA 150,000 250,000 100,000
401 AIZHILL L] 150,000 250,000 100,000
01 Al&b| 150,000 250,000 100,000
OSHEEZ(PENISH) HEBBA}
150,000,0002! %14} 150,000
SOETR PRIRSH(HMYI2]) HEBA 200,000 200,000
401 AIEHIL ST 200,000 200,000




A= SAlE= 2Md 1 E2u
M E2isd EE
el SEAE 2 SHERZ 4 (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e
01 A=l 200,000 200,000 0
Os0Ezz 2EIRsH(Mblel) Ha
200,000,000& *14] 200,000
AE2108 M (Blei S EXRHE) &t 400,000 200,000 200,000
401 AIEHIZL 2 OHYI 400,000 200,000 200,000
01 AlZHI 400,000 200,000 200,000
OAME210& 8 (Bt SEXJMYH) &2
400,000,000 14 400,000
Ha2ps e (22&el) SZE ZA 200,000 200,000
401 AlIEHIZL 2 0HY| 200,000 200,000
01 Al&H| 200,000 200,000
Odipas (2&el) &EE JA
200,000,000& *14] 200,000
Sofit HISOF Hate 2 ZE A 1,200,000 0 1,200,000
Fas 600,000
= 180,000
Al 420,000
401 AlIEHIZL 2 OHYI 1,200,000 0 1,200,000
= 600,000
= 180,000
Al 420,000
01 Al&H| 1,200,000 0 1,200,000
OSoligt 5i%ot 22 ZE A
1,200,000,000& *14] 1,200,000
= 600,000
= 180,000
Al 420,000
HEE~-ZSH QIR E2IH 4 900,000 700,000 200,000
401 AIEHIZL 2 0HYI 900,000 700,000 200,000
01 A&l 900,000 700,000 200,000
Oggra~2dsH oolxizt E2 L
900,000,000 *14] 900,000
SHEEZZ TZ2AHE 100,000 100,000 0
401 AIEHIZL R OHYI 100,000 100,000
01 AlZHI 100,000 100,000
Os0HEEZ AMFHE 889
100,000,000& * 14! 100,000
SHAIZ & SHEZZ AMIHFE 23| 4,000 4,000
202 04| 4,000 4,000
01 AL 4,000 4,000
OSEAE € sHEZZ AMEFA 283
] 4,000,000« 14! 4,000
TEHIRSH T2 EEIA 500,000 500,000
401 AlIEHIZL 2 OHYI 500,000 500,000




A2 TARER SN ERDY
MM T2NEIU =
ol SPAE & SOHEZZ - (CHel: &2l
AR . 2N B 09 (3H) - NRAY - B2 ofl b dE= RS2
d=- 74358 = g . 0l & s
01 Al&HI 500,000 500,000
OREPRsH 2T EHEAL
500,000,000& * 1A 500,000
SH6EH(SSEl) S2EHEZZA 200,000 200,000
401 A& HILE0HH] 200,000 200,000
01 Al&H| 200,000 200,000
O=2H0es 6 (Est|) S22 LA 2 A
200,000,000 *1A 200,000
ANE205S & EZ ST A A} 300,000 300,000
401 A& H|I L E0HY] 300,000 300,000
01 Al&HI 300,000 300,000
OAE200sH 2T A2 AL
300,000,000& x4 300,000
ANE, sHEEZZ EE&EX] 100,000 100,000
401 AIEHILE0HY] 100,000 100,000
01 Al&H| 100,000 100,000
OANEZ4AS H (St D~HIZIZAN) B A X
100,000, 000& = 1A 100,000
AE2AS S (R2HDIS) S A DAL 100,000 100,000
401 A& H| L E0HY] 100,000 100,000
01 Al&HI 100,000 100,000
OAMEMUS A (FetDIS2) SEEZA}
100,000, 000& =1 Al 100,000
SHA 202S A1 (1D Ek2E| OFDE2 QAR SN AlY) 150,000 150,000
& 75,000
Al 75,000
401 A& HILEC0HH] 150,000 150,000
= 75,000
Al 75,000
01 Al&H| 150,000 150,000
OSat 225 (DEe] ot N2 QAR &M
2| AFZ) 150,000, 000& = 14! 150,000
= 75,000
Al 75,000
CIQ23} - oiotE T2 LA (HESALSY) 3,200,000 3,200,000
& 1,600,000
Al 1,600,000
401 AIEHIL 204 3,200,000 3,200,000
= 1,600,000
Al 1,600,000
01 Al&H| 3,200,000 3,200,000
OH 23} - oHotE 2T A
3,200,000,000& * 1A 3,200,000
= 1,600,000




A= CAUES 2N E23
M C2NSY EE
el SHAE & SHEZZ 4 EER=E)
Al = XNZH . Ct2l (S (=] 2 OH @l‘—jE =2t
| | Al 1,600,000
NHENEZ 24 906,600 1,075,600 169,000
AEAQITEeH AEASY 406,600 375,600 31,000
201 =3 204,600 173,600 31,000
01 At22t2l] 24,600 10,000 14,600
OSESHA & 2lafy]
3,000,000 *14 3,000
OXNEAHEHOIX RXIL=
300, 0002+ 122 3,600
OAMH & O =52
3,000,000 *14] 3,000
ONEN &2 A8E =7
15,000,000 * 14| 15,000
02 S22l 180,000 163,600 16,400
ONENEE It 180,000,000 14 180,000
305 Bla =S 2,000 2,000
01 tiat=S 2,000 2,000
OX&ENEY TDIRES
2,000,000 *14] 2,000
401 AIEHIZ R 0HYI 200,000 200,000
01 Al&H| 197,000 197,000
ONENAIE & =2
197,000,000 * 14| 197,000
03 A2 THYI 3,000 3,000 0
OXENAIE K2 20
3,000,000 14 3,000
giE HEHE-Z ZHIAIS 500,000 700,000 /200,000
401 AIEHIZL SR THY] 500,000 700,000 /200,000
01 Al&HI 500,000 700,000 A.200,000
OEUAE NMNHEZZ2 HUIAI
500,000,000& *14] 500,000
C2AIE 2 16,389,097 18,134,826 N2,745,729
=S 313,068
Al 15,076,029
SHAL & SHERZZ RAES 2,298,493 3,086,070 NT87,577
SHAL & SHEZZ RAES 628,493 916,070 N2B7,577
101 e124d| 108,493 96,070 12,423
04 JIZtN2Z2 X S8+ 108,493 9,070 12,423
OSHAE & SOHEE2 NEHY =
104,800 x 7 *x14 L +82 A 82,164
OSHAL & SHEEZ MEXHY F5=
g 104,800 x7H+4 L +BF Al 23,476
OSBAL & SOEZZ M=&Y 18-
SHEE 283 105,640,000 2. 7% 2,853
305 HHal= S 20,000 20,000 0




Ax CAUES 2A 21
M CRAL2
ol SHAE € sHEEZ RAEF EER=E)
Al = £ o|(5 = dET =
A2 2A - B 9(3) - HIRAY - BES Ol & S DS
01 that=S 20,000 20,000 0
OSYAE ¥ sHEZZ 28 Tl thas
20,000,000 14! 20,000
401 AlEHIYL S THYI 500,000 800,000 300,000
01 Al&HI 490,000 790,000 300,000
OS88AE & sHEZZ RAES
490,000,000 *14] 490,000
03 A& S CHYI 10,000 10,000 0
OAIZ20HbI 10,000,000 » 14 10,000
SHAE £ SOHEER IIXNSEX 24 510,000 610,000 100,000
305 Bia =S 10,000 10,000 0
01 =S 10,000 10,000 0
OOIXI=SEX A0l THet Biats
10,000,000 * 14 10,000
401 AlEHIYL S THYI 500,000 600,000 100,000
01 Al&HI 500,000 600,000 100,000
OSHAE 4 sHEEZ 0IXS8X 24
500,000,000 x 14! 500,000
SHAZ & SHEEZ AN LALY 1,000,000 1,300,000 300,000
401 Al&BIL S THYI 1,000,000 1,300,000 300,000
01 Al£ZHI 990,000 1,290,000 300,000
OSBAL & SOHEZZ QA
990,000,000 * 14 990,000
03 A& S CHYI 10,000 10,000 0
OAl4 S THYI 10,000,000 * 14! 10,000
EEAE FX2el 60,000 60,000
401 AlZBIL S THYI 60,000 60,000
01 AlZHI 60,000 60,000
OZEEANH SN2 (HIIEY)
20,000,000 * 14! 20,000
OZEEANY KRA22(FLEH)
40,000,000 * 14 40,000
ANEZS HEEE 100,000 100,000
401 AlEHIYL S THYI 100,000 100,000
01 Al&HI 100,000 100,000
OANCEEH (SEE~SAGHHE) S M FA
50,000,000 *14] 50,000
OANE7SH(~HE) STAK AEFH
50,000, 000& » 14 50,000
=0IME QAo 1,805,000 1,902,000 £97,000
I FH| 502,000 502,000 0
401 AlEHIYL S THYI 502,000 502,000 0
01 Al&HI 500,000 500,000 0
OeleF| 500,000




A2 CARER 24 E2
Y CRAlMze
Ch9l: ZBIME OIRIGHA (cre:xigl)
424 - ZH - O9(E) - MRAY - BES ofl & A HDS
IS NSBIR, 222 UCHY|
60,000, 00024+ 14! 150,000
oIS ZE2, 822 ATHY|
100,000, 00021* 14! 100,000
oLHE U2 ATHY|
100,000, 0002+ 14! 100,000
oFQIEH 2324
60,000, 00024+ 14! 150,000
03 Al & SCHY| 2,000 2,000 0
OIS HEH| 2| 2,000,002 14} 2,000
c2Ey Hyl 800,000 800,000 0
401 AIEBIZ 2 THE] 800,000 800,000
01 Al 796,000 79,000
OEREEFY| 795,000, 00024+ 14! 796,000
03 Al& 2CHH| 5,000 5,000 0
OSETIFH| 20|
5,000,000%4+14! 5,000
22 Z| 508,000 600,000 297,000
401 Al&EI L S OHE] 503,000 600,000 297,000
01 Al 500,000 597,000 A97,000
ORxz Hy| 500,000, 00024+ 14! 500,000
03 Al& =Tt 3,000 3,000 0
ORXZ Hb| LYl 3,000,002 14} 3,000
AT 2 AISAE SRz 7,674,051 10,431,092 22,757,041
= 313,068
Al 7,360,983
ADHI E2FH 2 24 1,612,915 1,638,002 A125,177
101 Q1248 202,915 128,002 74,823
VBIENEES=T=P 202,915 28,002 74,823
OE2H MEXY Jl=3
104, 00482+ 102 #2152 A 176,064
OZ2Y HEXY =4
104, 8002148 #1221 A 17,607
OE2¥ HEXY D828 $22
176,064, 00021, 5% 2,641
OSEH MEXY MTH2E $Y2
176,064, 00024 +3. 75% 6,603
305 BHASS 10,000 10,000
01 BHAZS 10,000 10,000
OSZAIES 21210l TI5H BHAE
10,000, 000%/%14] 0,000
401 AIEBI L 2OHE] 1,300,000 1,500,000 £200,000
01 Al 1,295,000 1,4%,000 200,000
OAIMKR ES28H| & B+
1,295,000,0002 14} 1,295,000




D EANSSE
D E2AId 22

2N E21

Fr A E AZAIE FX2e EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
03 Al SHYI 5,000 5,000 0
OAIDIX E28H| & 2+
5,000,000& 14 5,000
HEX SIS 1,700,000 1,500,000 200,000
401 AlZHIYL S THYI 1,700,000 1,500,000 200,000
01 Al&HI 1,700,000 1,500,000 200,000
OXEXZSHAIE (EMZ)
700,000,000 x14] 700,000
ONEXISstAE (aHet2)
1,000,000, 000& » 14 1,000,000
S Y| ;X2 15,000 12,000 3,000
401 AlEBIYL S THYI 15,000 12,000 3,000
01 Al&HI 15,000 12,000 3,000
O=s1l 52J| |Xl&
15,000,000 *14] 15,000
ng SN2 900,000 900,000 0
401 A& BIL S CHY] 900,000 900,000
01 AlEZHI 895,000 895,000
Ooug |2+ 895,000,000 x 14! 895,000
03 AlES0HYI 5,000 5,000 0
Oug =X2+ 20
5,000,000& 14 5,000
CEROXEEY] 200,000 300,000 100,000
401 AlEHIYL S THYI 200,000 300,000 100,000
01 Al&HI 200,000 300,000 100,000
OS2 HXIEEH| 200,000,000 * 14! 200,000
HE0I2S2 JHH(HEALY) 420,000 1,000,000 580,000
[ 210,000
Al 210,000
401 Al&BIL STy 420,000 1,000,000 580,000
< 210,000
Al 210,000
01 Al£ZHI 420,000 1,000,000 580,000
ooglol2a24 e
420,000,000 » 14 420,000
< 210,000
Al 210,000
WEAD Z2 R NEAI (HEAL) 106,136 306,000 199,864
[ 53,068
Al 53,068
401 Al&BIL LY 106,136 306,000 199,864
< 53,068
Al 53,068
01 AlZHI 106,136 306,000 /199,864




D EANSSE 2Md 1 E2u
D E2AId 22

;F?_—i: ANE & AZAIE S22 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

OusAd &2 2 e
106, 136,000 & 14! 106,136
& 53,068
Al 53,068
SMUZ EXIALS 500,000 500,000
401 AIEHIZ 2018 500,000 500,000
01 AlEHI 500,000 500,000
O|MuxZ2 XA
500,000,000 *1JH 2~ 500,000
SHOIZ2(HE~F2A) TSR A 500,000 200,000 300,000
401 AIEHIZL 28I 500,000 200,000 300,000
01 Al&Hl 500,000 200,000 300,000
Odfiet2(FT~F=2%) A=A Ar
500,000,000 * 14 500,000
T2 HY DX=EX 24 1,020,000 1,020,000 0
305 HH&l =S 20,000 20,000
01 tial=2 =S 20,000 20,000
OEANAHEEZ 2t TloH tHAaZ
20,000,000& *14! 20,000
401 AIEHIZL 28I 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
OEANAHEEZ OIXN=E2X B4
1,000,000,0002 *14] 1,000,000
LoIES RS M (MEALY) 100,000 130,000 230,000
& 50,000
Al 50,000
401 AIEHIZ 2018 100,000 130,000 230,000
= 50,000
Al 50,000
01 Al&HI 100,000 130,000 230,000
OLoEs32Y e 100,000,000 14 100,000
T 50,000
Al 50,000
o= eHll) THotd FHIAMY 500,000 0 500,000
401 AIEHIZL 2018 500,000 500,000
01 Al&Hl 500,000 500,000
O sl THote ZHIAS
500,000,000 14 500,000
ZEAl E¥otd & HO|SA J|=HE ~8EEH 100,000 0 100,000
401 Al&HIZ 20 100,000 100,000
01 Al&HI 100,000 100,000
OZEA BHHE Y HOSA J|=HE =
2HEY 100,000,000& * 14! 100,000
CZ2oHEAIE FHIAKY 100,000 0 100,000




D EANS=
Azt
DAE 2 AIZAIE SX2el

2N E21

AR .2 FHY - BR(B) - HIRAY - BN ofl Ak Oﬁ]gﬁ HDE2Z
401 AlEHIL20HYI 100,000 100,000
01 AI&HI 100,000 100,000
OZZ0tMAIE HHIALY
100,000,000 * 14! 100,000
SEH&2a] 2,835,200 1,952,300 882,900
CEHEXY 2,544,200 1,723,000 821,200
201 L2 | 1,675,600 1,135,600 540,000
01 ArR222ltl 1,415,000 925,000 490,000
O=&t| 8,000
oN4dE ZAl| 8,000 x50 *203] 8,000
Otz 1,407,000
OMAXAIIA LIHEIZ)
25,000,000 *42CH 1,050,000
OMAEAI A LXH(A2XE)
21,000,000 *2CH 42,000
o=oHIIoH CHE|l &8l Xt
15,000,0002*217K 315,000
02 32| 260,600 210,600 50,000
ONA&AEY XYl 45,000,000 3 14! 45,000
OM&EH 28 200,000,000 *14] 200,000
03322 15,600
ocHIILa ¥ SAldl
900,000 *12J0 & 10,800
oMot ER3 400,0002 1204 4,800
206 M=l 446,600 245,400 201,200
01 M=l 446,600 245,400 201,200
OSHEEH & &Y S HEARSE
15,000,000 & 14! 15,000
OYLEAt 22,0002 *1,000m* 22,000
Ogstzs 420,000 480 201,600
o223 190,000 *960E 182,400
O=2E+E M 6,400,000 *4ZJ| 25,600
302 Ol=L a2 a2 62,000 62,000
02 QRIOITHOHE =T8S 24 = 62,000 62,000
O=4| 8,000 *80Y 503 32,000
ORFdl 30,000,000&*14] 30,000
305 it S 20,000 20,000
01 ti&al=sS 20,000 20,000
OHMAZES QIZHITIGH Hhat =3
20,000,000 & *14] 20,000
405 Rt SHI 340,000 260,000 80,000
01 AL ESF S| 340,000 260,000 80,000
Oatm)| 2 60,000,000 *4CH 240,000
OHM&Dl 2 20,000,000 +5CH 100,000
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